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QUESTION 1

What statement about traditional datacenter network architecture is TRUE? 

A. It adopts a 3-tier hierarchical topology. 

B. Layer 3 termination is at the access layer. 

C. The top-of-rack switch runs MPLS VPLS services. 

D. It meets the requirements triggered by cloud computing and virtualization. 

Correct Answer: B 

Reference: https://www.cisco.com/c/en/us/td/docs/solutions/Enterprise/Data_Center/DC_Infra2_5/
DCI_SRND_2_5a_book/DCInfra_2a.html 

 

QUESTION 2

What statement is FALSE regarding the forwarding policies used in VCS for traffic redirection (also known as service
chaining)? 

A. Forwarding policies can be applied to either ingress or egress traffic. 

B. Redirection targets should be created in advance and associated with vPorts. 

C. Redirection targets cannot be associated with host vPorts (physical appliances). 

D. A forwarding policy can be created in an active domain or be instantiated from a template. 

Correct Answer: D 

Reference: 

https://www.nuagenetworks.net/wp-content/uploads/2020/06/ 

Nuage_Networks_Service_Chaining_Technical_Description_Document_EN-compressed.pdf 

 

QUESTION 3

What function is NOT supported on the Nuage 7850 VSG? 

A. Hardware VXLAN/VLAN gateway 

B. Cloud orchestration 

C. Top of Rack switch/Leaf router 

D. VSC functionality 

Correct Answer: B 
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QUESTION 4

Which of the following is a host-centric overlay solution for a modern data center? 

A. SPBM 

B. TRILL 

C. VxLAN 

D. VPLS 

Correct Answer: C 

Modern data center, traditional technologies are limiting the speed, flexibility, scalability, and manageability of
application deployments. There is emerging interest in the industry in overlay technologies (such as 

MPLS, VXLAN, LISP...) 

Reference: https://community.cisco.com/t5/data-center-documents/cisco-data-center-overlays-with-focuson-vxlan-slides-
from/ta-p/3159545 

 

QUESTION 5

What statement is TRUE regarding a redundant redirection target? 

A. By default, high availability is enabled for all redirection targets. 

B. A redundant redirection target can have only 1 virtual IP. 

C. We can associate at maximum 2 vPorts with a redundant redirection target. 

D. Traffic will be redirected to all the vPorts within a redundant redirection target. 

Correct Answer: B 
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